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Note : (i) All the questions are compulsory. 

(ii) All the questions carry equal weightage. 

1. Answer the following question in about 600 words : 

Explain the need for paradigm shift in delivery of 

VET. Discuss the role of key players in 

partnerships for VET provisions with examples. 

OR 

Describe the recommendations given by National 

focus group on "Work and Education" for NCF 

(2005). Discuss the challenges ahead for VET in 

the new economic era in Indian Society. 

2. Answer the following question in about 600 words : 

Describe the common features of vocational 

education programme in India. Discuss the major 

constraints in the implementation of vocational 

education programme. 

OR 

Explain school industry linkage in the context of 

VET. Discuss various components of the 

vocational education curriculum with examples. 
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3. 	Answer any four of the following questions in 

about 150 words each : 

(a) Write a note on management of VET in 

China. 

(b) Describe pre-vocational education in the 

context of integration of work with 

education. 

(c) Discuss the Asia-Pacific Scenario of VET. 

(d) Discuss the partnership principles in VET. 

(e) Write a note on competency-based 

curriculum in VET. 

(f) Explain briefly the various systems and 

approaches of vocational education. 

	

4. 	Answer the following question in about 600 words : 

What are the innovations in vocational education ? 

Discuss the introduction of new information and 

communication technologies (ICTs) for promotion 

of vocational education programmes citing 

examples from your state. 
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